AP – Homework for the Holidays 
Name __________________     (please put just answers on another sheet)

1. Which one of the following is a reserved word?

 a. apple  

b. 7up  

c. grandTotal  

d. boolean  

2. Which one of the following is NOT a correct variable name?

 a. 2bad  

b. zero  

c. theLastValueButOne  

d. year2000  

3. Which one of the following declarations is NOT correct? 

a. double duty;  

b. float loan = 84.6;  

c. boolean value = 12;  

d. int start = 34, end = 99;  

4. What does the following program output? 

class question4

{

  public static void main ( String[] args )

  {

    int unitCost = 8;    

    int items    = 5;

    System.out.println("total cost: " + (unitCost * items) );

  }

}

a. total cost: + 40  

b. total cost: 8*5  

c. total cost: 40  

d. "total cost: " 40  

5. Which of the following shows the syntax of an assignment statement? a. variableName  =  expression;  

b. expression  =  expression;  

c. expression  =  variableName;  

d. dataType  =  variableName;  

6. What are the two steps that take place when an assignment statement is executed?

 a. (i) Evaluate the Expression, and (ii) Store the value in the variable.  

b. (i) Store the value in the variable, and (ii) Evaluate the Expression.  

c. (i) Reserve memory , and (ii) fill it with a number.  

d. (i) Evaluate the variable, and (ii) store the results.  

7. What is an expression? a. The same thing as a statement.  

b. An expression is a list of statements that make up a program  

c. An expression is a combination of literals, operators, variables, and parentheses used to calculate a value.  

d. An expression is a number expressed in digits.  

8. Which one of the following expressions is NOT correct? 

a. 5 + 4  

b. (5 * 4)/2  

c. (-12 + (13 + 7)/2 ) * 4  

d. -12 + (13 + 7)/2 ) * 4  

9. Which of the following expressions is incorrect? 

a. (34 - 86) / 3  

b. (34 - 86) / -3  

c. 34 - 86) / (23 - 3 )  

d. ( (34 - 86) / (23 + 3 ) )  

10. What is the value of the following expression: 

(2 - 6) / 2 + 9

a. 7  

b. 8  

c. 9  

d. 10  

11. Which one of the following is NOT a correct expression? a. alpha  

b. (alpha / momentum) - 12.4  

c. alpha ( / momentum - 12.4 )  

d. ((alpha / momentum) - 12.4)  

12. What is an operand? a. Another name for number.  

b. Another name for integer.  

c. One of the arithmetic symbols like *, +, -, and /.  

d. A value that is acted upon by an operator.  

13. Assume the following declarations: 

short  a=12 ;

int    b=33 ;

float  x = 2.3;

double y = 3.14;

Which one of the following expressions will NOT be evaluated using double precision floating point? a. a + x  

b. 1.5 + 8.6  

c. a + b  

d. x / y  

14. What does the following program output? 

class question4

{

  public static void main ( String[] args )

  {

    int totalCost = 6;    

    int items     = 12;

    System.out.println("cost per item: " + totalCost/items );

  }

}

a. cost per item: .5  

b. cost per item: 0  

c. cost per item: 1  

d. cost per item: +6/12  

15. What is the result of evaluating the following expression? 

( 1/2 + 3.5) * 2.0

a. 8.0  

b. 8  

c. 7.0  

d. 0  

16. What is the result of evaluating the following expression? 

-32 / 6

a. -2  

b. -5  

c. -5.3333  

d. +6  

17. What is an expression? 

a. The same thing as a statement.  

b. An expression is a list of statements that make up a program  

c. An expression is a combination of literals, operators, variables, and parentheses used to calculate a value.  

d. An expression is a number expressed in digits.  

18. Given the following expression: 

(a - x ) / (13 - z)

Which of the following is NOT a subexpression? 

a. (a - x)  

b. (13 - z)  

c. a - x  

d. x ) / (13  

19. What is the value of 

-32 % 6

a. 5  

b. -5  

c. 2  

d. -2  

20. Which of the following declarations works for the constant pi (assume that the numerical value is correct)? a. final pi = 3.14159265358979 ;  

b. final double pi = 3.14159265358979 ;  

c. constant double pi = 3.14159265358979 ;  

d. double pi = 3.14159265358979 ;  

21. How many choices are possible when using a single if-else statement?   

a.    1  

b.    2  

c.    3  

d.    4  

22. What does the following code fragment write to the monitor? 

int sum = 14;

if ( sum < 20 )

  System.out.print("Under ");

else

  System.out.print("Over  ");

System.out.println("the limit.");

  a.    Under  

b.    Over  

c.    Under the limit.  

d.    Over the limit.  

23. What does the following code fragment write to the monitor? 

int sum = 14;

if ( sum < 20 )

  System.out.print("Under ");

else

{  

  System.out.print("Over  ");

  System.out.println("the limit.");

}

(Notice that the program has changed from the previous question!)   

a.    Under  

b.    Over  

c.    Under the limit.  

d.    Over the limit.  

24. What does the following code fragment write to the monitor? 

int sum = 94;

if ( sum < 20 )

{  

  System.out.print("Under ");

  System.out.println("the limit.");

}

else

{  

  System.out.print("Over  ");

  System.out.println("the limit.");

}

(Notice that the program has changed from the previous question!)  

 a.    Under  

b.    Over  

c.    Under the limit.  

d.    Over the limit.  

25. What does the following code fragment write to the monitor? 

int sum =  7; 

if ( sum > 20 )

{

  System.out.print("You win ");

}

else

{

  System.out.print("You lose  ");

}

System.out.println("the prize.");

(Notice that the program has changed from the previous question!)   a.    You win  

b.    You lose  

c.    You win the prize.  

d.    You lose the prize.  

26. What does the following code fragment write to the monitor? 

int sum =  21; 

if ( sum == 20 )

{

  System.out.print("You win ");

}

else

{

  System.out.print("You lose  ");

}

System.out.println("the prize.");

(Notice that the program has changed from the previous question!)   

a.    You win  

b.    You lose  

c.    You win the prize.  

d.    You lose the prize.  

27. What does the following code fragment write to the monitor? 

int sum =  21; 

if ( sum != 20 )

  System.out.print("You win ");

else

  System.out.print("You lose  ");

System.out.println("the prize.");

(Notice that the program has changed from the previous question!)   

a.    You win  

b.    You lose  

c.    You win the prize.  

d.    You lose the prize.  

28. A sequence of statements contained within a pair of braces ("{" and "}") is called a:   a.    block  

b.    blob  

c.    branch  

d.    brick  

29. Evaluate (to true or false) each of the following expressions: 

14 <= 14     14 < 14      -9 > -25     -25  >  -9

  a.    true     true     true     true  

b.    true     false     false     false  

c.    true     false     true     true  

d.    true     false     true     false  

30. Say that value has a 19 stored in it, and that extra has a 25 stored in it. Evaluate (to true or false) each of the following expressions: 

value <= extra     extra < value      value > -25     value  >=  extra

  a.    true    false    true    false  

b.    true    true    true    false  

c.    false    false    true    false  

d.    false    false    true    true  

31. Evaluate (to true or false) each of the following expressions: 

1 + 2 == 3      25 < 5 * 5      8 + 1 >= 3 * 3 

  a.    true   true   true  

b.    true   true   false  

c.    true   false   true  

d.    false   true   true  

32. Evaluate (to true or false) each of the following expressions: 

1 + 2 == (3 + 9) / 4     12 <= 2 + 2 * 3      2 * 2 + 5 != (1 + 2) * 3

  a.    false   false   false  

b.    false   false   true  

c.    false   true   false  

d.    true   false   false  

33. What does the following code fragment write to the monitor? 

int height = 10;

if ( height <= 12 )

  System.out.print("Low bridge: ");

System.out.println("proceed with caution.");

  a.    Nothing is written.  

b.    Low bridge:  

c.    proceed with caution.  

d.    Low bridge: proceed with caution.  

34. What does the following code fragment write to the monitor? 

int height = 15;

if ( height <= 12 )

{

  System.out.print("Low bridge: ");

  System.out.println("proceed with caution.");

}

  a.    Nothing is written.  

b.    Low bridge:  

c.    proceed with caution.  

d.    Low bridge: proceed with caution.  

35. What does the following code fragment write to the monitor? 

int depth =  8 ;

if ( depth >= 8 )

{

  System.out.print("Danger: ");

  System.out.print("deep water. ");

}

System.out.println("No swimming allowed.");

  a.    Danger:  

b.    Danger: deep water.  

c.    deep water. No swimming allowed.  

d.    Danger: deep water. No swimming allowed.  

36. What does the following code fragment write to the monitor? 

int depth =  4 ;

if ( depth >= 8 )

  System.out.print("Danger: ");

  System.out.print("deep water. ");

  System.out.println("No swimming allowed.");

(Notice that changes have been made from the previous question.)   

a.    Danger:  

b.    No swimming allowed.  

c.    deep water. No swimming allowed.  

d.    Danger: deep water. No swimming allowed.  

37. Evaluate (to true or false) each of the following expressions: 

10.0 + 0.10 < 11.0       10.0 + 0.10 > 10.0       10.0 + 0.10 == 10.1

  a.    true   true   unknown  

b.    true   true   true  

c.    unknown   unknown   unknown  

d.    false   true   true  

38. Fill in the blank so people under 21 years are offered Grape Soda. 

int age =  17 ;

if ( age  _________ 21 )

  System.out.println("Care for some Grape Soda?");

else

  System.out.println("How about a Brewski?");

  a.    <  

b.    ==  

c.    !=  

d.    >=  

39. Fill in the blank so people under 21 years are offered Grape Soda. (Notice that the program is changed from the last question.) 

int age =  17 ;

if ( age  _________ 21 )

  System.out.println("How about a Brewski?");

else

  System.out.println("Care for some Grape Soda?");

  a.    <  

b.    ==  

c.    !=  

d.    >=  

40. What does the following code fragment write to the monitor? 

int depth =  12 ;

int temp  =  42 ;

System.out.print("The water is: ")

if ( depth >= 8 )

  System.out.print("deep ");

if ( temp <= 50 )

  System.out.print("cold ");

System.out.println(" wet.");

  a.    The water is:  

b.    The water is: wet.  

c.    The water is: deep cold wet.  

d.    The water is wet cold deep.  

41. What three parts of a counting loop must be coordinated in order for the loop to work properly? a. initializing the counter, testing the counter, changing the counter  

b. initializing the condition, changing the condition, terminating the loop  

c. the while, the assignment, and the loop body  

d. the while statement, the if statement, and sequential execution.  

42. Examine the following code: 

    int count = 0;                                  

    while ( count <= 6 )  

    {

      System.out.print( count + " " );

      count = count + 2; 

    }

    System.out.println(  );

What does this code print on the monitor?
 a. 1 2 3 4 5 6  

b. 0 2 4 6 8  

c. 0 2 4  

d. 0 2 4 6  

43. Examine the following code: 

    int count = 7;                                  

    while ( count >= 4 )  

    {

      System.out.print( count + " " );

      count = count - 1; 

    }

    System.out.println(  );

What does this code print on the monitor? 
a. 1 2 3 4 5 6 7  

b. 7 6 5 4  

c. 6 5 4 3  

d. 7 6 5 4 3  

44. Examine the following code: 

    int count = -2 ;                                  

    while ( count < 3 )  

    {

      System.out.print( count + " " );

      count = count + 1; 

    }

    System.out.println(  );

What does this code print on the monitor?
 a. -2 -1 1 2 3 4  

b. -2 -1 1 2 3  

c. -3 -4 -5 -6 -7  

d. -2 -1 0 1 2  

45. Examine the following code: 

    int count =  1;                                  

    while ( count < 5 )  

    {

      System.out.print( count + " " );

    }

    System.out.println(  );

What does this code print on the monitor?
 a. 1 2 3 4  

b. 1 2 3 4 5  

c. 2 3 4  

d. 1 1 1 1 1 1 1 1 1 1 1 . . . .  

46. Examine the following code: 

    int count =  1;                                  

    while (  ___________ )  

    {

      System.out.print( count + " " );

      count = count + 1;

    }

    System.out.println(  );

What condition should be used so that the code writes out: 

1 2 3 4 5 6 7 8

a. count < 8  

b. count < 9  

c. count+1 <= 8  

d. count != 8  

47. Which of the following situation most likely does NOT call for a counting loop? a. Adding up all the integers between zero and one hundred.  

b. Writing out a table of Fahrenheit and Celcius temperature equivalents.  

c. Prompting the user of a program until the user responds with correct information.  

d. Making the computer beep ten times.  

48. What is the most common type of bug in software? a. The "wrong way" problem, where a two way decision is written incorrectly.  

b. The "wrong operator" problem, where an arithmetic expression does not mean what the programmer thought it did.  

c. The "unititialized variable" problem, where a variable is used in an expression before its contents have been initialized.  

d. The "off by one" problem, where a counting loop executes its body one time too many or one time too few.  

49. What is the output of the following program fragment? 

for ( int j = 0;  j <  5; j++ )

{

  System.out.print( j + " " );

}

System.out.println( );

a. 0 1 2 3 4 5  

b. 0 1 2 3 4  

c. 0 1 2 3 4 5  

d. j j j j j  

50. What is the output of the following code fragment? 

for ( int j = 10;  j >  5; j-- )

{

  System.out.print( j + " " );

}

System.out.println( );

a. 10 11 12 13 14 15  

b. 9 8 7 6 5 4 3 2 1 0  

c. 10 9 8 7 6 5  

d. 10 9 8 7 6  

51. What must the test be so that the following fragment prints out the integers 5 through and including 15? 

for ( int j = 5;  ________ ; j++ )

{

  System.out.print( j + " " );

}

System.out.println( );

a. j<15  

b. j<=16  

c. j<16  

d. j==15  

52. What must the change be so that the following fragment prints out the even integers 0 2 4 6 8 10? 

for ( int j = 0; j <= 10; _______   )

  System.out.print( j + " " );

System.out.println( );

a. j+2  

b. j = j+2  

c. j++++  

d. ++j++  

53. What must the initialization be so that the following fragment prints out the integers -3 -2 -1 ? 

for ( _______; j < 0; j++    )

  System.out.print( j + " " );

System.out.println( );

a. int j = 0  

b. int j < 0  

c. int j = -3  

d. int j = -4  

54. What is the output of the following code fragment? 

for ( int j = 5;  j > -5; j-- )

  System.out.print( j + " " );

System.out.println( );

a. -5 -4 -3 -2 -1 0  

b. 5 4 3 2 1 0  

c. 5 4 3 2 1 0 -1 -2 -3 -4 -5  

d. 5 4 3 2 1 0 -1 -2 -3 -4  

55. What is the output of the following code fragment? 

int count = 0;

for ( ;  count < 9; ++count )

  System.out.print( count + " " );

System.out.println( );

a. 0 1 2 3 4 5 6 7 8  

b. Nothing --- the program will not compile.  

c. 0 1 2 3 4 5 6 7  

d. 1 2 3 4 5 6 7 8 9  

56. What is the output of the following code fragment? 

for ( int count = 0;  count < 9;   )

  System.out.print( count + " " );

  count++ ;

System.out.println( );

a. 0 1 2 3 4 5 6 7 8  

b. Nothing --- the program will not compile.  

c. count count count count count count count count count  

d. 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 ...  

57. What is the output of the following code fragment? 

int j;

for ( j = 0;  j < 5;   )

{

  System.out.print( j + " " );

  j++ ;

}

System.out.println( );

a. 0 1 2 3 4  

b. Nothing --- the program will not compile.  

c. 1 2 3 4 5  

d. 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 ...  

58. Pick the for loop which duplicates this while loop: 

int x = 0;

while ( x < 500 )

{

  System.out.println( x );

  x = x + 5;

}

a. 

for ( int x = 5; x <= 500; x+=5 )

  System.out.println( x );

 b. 

for ( int x = 0; x < 500; x+=5 )

  System.out.println( x );

c.

 for ( float x = 0.0; x < 500.0; x += 5.0 )

  System.out.println( x );

 d.  

for ( int x = 500; x >= 0; x-=5 )

  System.out.println( x );

59. Pick the for loop which duplicates this while loop: 

double x = 0.0;

while ( x < 100.0 )

{

  System.out.println( x );

  x += 0.1;

}

a. 

for ( int x = 0; x <= 1000; x += 1 )

  System.out.println( x );

 b. 

int x;

for ( x = 0.0; x < 100.0; x += 0.1 )

  System.out.println( x );

c. 

double x;

for ( x = 0.0; x < 100.0; x += 0.1 )

  System.out.println( x );

 d. 

for ( double x = 0.0; x < 100.0;  )

{

  x += 0.1 ;

  System.out.println( x );

}

60. Pick the for loop which duplicates this while loop: 

int sum =  0 ;

int j   = -5 ;

while ( sum <= 350 )

{

  sum += j ;

  j   += 5 ;

}

a. 

int sum =  0 ;

int j   = -5 ;

for ( ; sum <= 350; j += 5  )

{

  sum += j ;

}

 b. 

for ( int sum = 0; sum <= 350; j += 5  )

{

  sum += j ;

}

c. 

for ( int j = 0; sum <= 350; j += 5  )

  sum += 5 ;

 d. 

int sum =  0 ;
for ( ; sum <= 350; )

{

  sum += j ;

  j   += 5 ; 

}

61. What must the test be so that the following fragment prints out the integers -5 through and including 5? 

for ( int j = -5;  ________ ; j++ )

{

  System.out.print( j + " " );

}

System.out.println( );

a. j<5  b. j<=5  c. j>5  d. j==5  

62. Fill the blank so that the following fragment prints out 0.2, 0.4, 0.6, 0.8, 1.0, 

for ( int j = 2; j <= 10; j++   )

  System.out.print( __________ + ", " );

System.out.println( );

a. j/10  b. j%10  c. (j+1.0)/10  d. j/10.0  

63. Fill the blank e so that the following two loops are equivalent: 

int sum   =  0;

for ( _______; count <= 25; count++    )    

  sum += count;

 int sum   =  0;

int count = 10;

while ( count <= 25 )

{

  sum += count;

  count++;

}

a. int count = 0  b. int count = 10  c. count = 0  d. int j = 10  

64. What does the following print on the monitor? 

for ( int j = 0;  j < 5; j++ )

{

  for ( int k = 0;  k < 10 ; k++ )

    System.out.print( "*" );

  System.out.println( );

}

a. 

**********

**********

**********

**********

**********

 b. 

**********

**********

**********

**********

**********

**********

**********

**********

**********

**********

 c. 

*****

*****

*****

*****

*****

*****

*****

*****

*****

*****

 d. 

*

*

*

*

*

65. What is the output of the following code fragment? 

for ( int count=0;  count <= 9; ++count )

  System.out.print( count + " " );

System.out.println( );

a. 0 1 2 3 4 5 6 7 8  

b. 0 1 2 3 4 5 6 7 8 9  

c. 0 1 2 3 4 5 6 7  

d. 1 2 3 4 5 6 7 8 9  

66. What is the output of the following code fragment? 

for ( int count = 0;  count <= 20;  count+=2 )

  System.out.print( count + " " );

System.out.println( );

a. 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20  

b. 0 2 4 6 8 10  

c. 0 2 4 6 8 10 12 14 16 18  

d. 0 2 4 6 8 10 12 14 16 18 20  

67. Fill in the blank so that the following adds up the odd numbers from 1 to 99 

int sum = 0;

for ( int num = 1; num <=99; __________ )

  sum += num;

System.out.println( sum );

a. j++      b. num+2     c. num+=2     d. num--  

68. Which of the following declares an array of int named img?    a. int img;  

b. int[] img;  

c. new int img[];  

d. int img = int[];  

69. What are the legal indexes for the array ar, given the following declaration: 

int[] ar = {2, 4, 6, 8 }

   a. 0, 1, 2, 3  

b. 1, 2, 3, 4  

c. 2, 4, 6, 8  

d. 0, 2, 4. 6  

70. What is the output of the following code fragment: 

int[] ar = {2, 4, 6, 8 };

System.out.println( ar[0] + " " + ar[1] );

   a. 2 6  

b. 8  

c. 2 4  

d. 6 8  

71. What is the output of the following code fragment: 

int[] ar = {2, 4, 6, 8 };

ar[0] = 23;

ar[3] = ar[1];

System.out.println( ar[0] + " " + ar[3] );

   a. 23 2  

b. 2 8  

c. 31  

d. 23 4  

72. What is the output of the following code fragment: 

int[] y = new int[5];

y[0] = 34;

y[1] = 88;

System.out.println( y[0] + " " + y[1] + " " + y[5] );

   a. 34 88 0  

b. 34 88 88  

c. The program is defective and will not compile.  

d. 0 34 88  

73. What is the output of the following code fragment: 

int[] z = new int[9];

z[0] = 7;

z[1] = 3;

z[2] = 4;

System.out.println( z[0] + z[1] + " " + z[5] );

  a. 10 0  

b. 7 3 0  

c. The program is defective and will not compile.  

d. 7 3 4  

74. What is the output of the following code fragment: 

int[] zip = new int[5];

zip[0] = 7;

zip[1] = 3;

zip[2] = 4;

zip[3] = 1;

zip[4] = 9;

System.out.println( zip[ 2 + 1 ] );

a. 4 3  

b. 3 7  

c. 4  

d. 1  

75. What is the output of the following code fragment: 

int[] zip = new int[5];

zip[0] = 7;

zip[1] = 3;

zip[2] = 4;

zip[3] = 1;

zip[4] = 9;

int j = 3;
System.out.println( zip[ j-1 ] );

 a. 7  

b. 3  

c. 4  

d. 1  

76. How many objects are present after the following code fragment has executed? 

double[] ann = new double[ 7 ];

double[] bob;

bob = ann;

   a. 2  

b. 7  

c. 14  

d. 1  

77. For which of the following applications is an array NOT suitable:   
 a. Holding the scores on twelve midterms exams of a class.  

b. Holding the name, social security number, age, and income of one individual.  

c. Holding the temperature readings taken every hour throughout a day.  

d. Holding the total sales a store made in each of twelve months.  

